


Pc gesece B¥ qPr g e

A | i1
Iji aq A a Check box at left if rates are populated in this section.
P P . P
By g Pr .a 4 2 T geee 4s® c eIs
5 © a ‘Rlé a “'IhnbeochalﬂP@"is o
a ‘ a a
Al 1&2 X
A2 3 X
A3 4 X
A4 5 X
A5 6 X
A6 7 X
A7 8 X
5 e R e “vll,pbeofs,bcma"‘eﬁs o,
a
A8 1&2 a 2
A9 3
A10 4
A11 5
P
A12 6 Al Oy
A13 7 a a
A14 8
[ 132t B
B T e Pe P
ord T8 il 1s® ®s
a a a
0 us PePee , o QPc e PePe ¢ 4 3) (Permit Imprint per piece charge)
a a P SJ Poﬂ:d °
5 e | R e R
B1 1&2 $0.09%
B2 3 $0.118
B3 4 $0.157
B4 5 $0.209
B5 6 $0.261
B6 7 $0.325
B7 8 $0.442
P B

0,

[
[ Y




Pc By g P
C.gesS€eC e “dria\ i_e

Ij » M C Check box if rates are populated in th|s section. Q&
e€  eRJ e o Pec e

t
a a a

-
-~

1Y

b. bt @
O PePed, 03 JPc e PePed, ) (Permit Imprint per piece charge)

g F B%ee P Y P “ d P
5. g“gtf&%‘ "%e s‘atw[ m421'71 1 mmeom 288“'9!!9611 o76sY qatﬁ 1.935. 51386953 Y @) m 1 70-11157318 840940/ 2
C1 1&2 X = 3 $0. 05 X = $
= s 0.118 =
c2 3 o $ K $
C3 4 é = $ $0.157 4 = $
C4 5 K = 8 $0.209 X = $
5 6 = s $0.261 ¢ = $ P ¢
4 f \ . o
c6 7 = s 50325 = s a‘- { 3
= s $0.442 ¢ = $
LA TN B
a a a
| s Pec e PePe & 40 Y3 (Permit Imprint per piece charge)
a a PI g P d o,
y 5° R° a
Y1 o1&2 $0.0@ $
Yo o3 $0.108 s
Vs o4 $0.147 $

$0.197 $$




)

Pc & ec e BW¥ 4 Pr e
- 95 y s Of,d\ -|_a i
Pa@ - a
per. &' BraPr a  e€ “eRye o Pce
a’, a a a a
=;‘
™~
~
=)
o
[Te}
™
&1
Pc. gesec e b . rd a
» = 7S Y )
[ &ag a a a a a
Ih'”- TBcdaPc elS Rle U,I‘J.beofc,p bepeels 0,
1 Bagca, ':a: a a a a a a

Pc. g ec e Pc esee

IS {
[ B2k a
e u ppe c ePee
5. BCda ‘Rle |‘unb Of F b [ o
1 1&2 a . a a ta
2 3
3 4
4 5
© (4 R e u e c ePee
= b btoaa R, v"‘nb of “ kb Is %t
o 182 2 2 a @ a
== 23
7 4
8 5
R e U ppeo .6 nC bePee o
' £ ¢k
9 182 L I W is 1
10 3
11 4
12 5
R e u e« P
9 : z A
13 &0 _abh
(8
”1 14 (‘{Im vnannab . .
X  nbe ee
o LA R R Rl ® % °
= 15 M) 'ae‘s a a
”



P Pc eP
,C‘ .gese‘(;'.els mC e,oli
Ij: ca% b a Check box at left if rates are populated in this section.
eB\i‘ 3‘0 To a CF berT els
TR e 7 BE P o BEF ey
6 eR e Peeisa o, 6. eR e F'ceels o, 5. eR e F’taels o
1182 a =% a 182 a =$ a 182 a 4 =% a
2 3 4 =3 3 X =$ 3 X = $
3 4 3 =8 4 X =$ 4 o =3
4 5 4 = $ 5 4 =% 5 4 =$
5 6 K =3 6 K =3 6 K =3
6 7 K| =$ 7 K| =9 7 K| =$
7 8 K =3 8 K =3 8 K =$
vleBG“s b btad Cf bePc e
?geﬁ ....... p— PR A— S S— - CPeISD ................................................................................. o Peﬁol ......................................
. R e Pe ea o 6 eR e P e o, 6 R e Pe e o,
g1&2 a =3 a 182 a4 =§ a 1&2 a 4 =% a
9 3 K| =$ 3 K| =3 3 K| =9
10 4 X = $ 4 X = $ 4 o =3
11 5 K =3 5 K =3 5 K =3
12 6 4 = $ 6 4 =3 6 4 = $
13 7 4 =3 7 4 =3 7 4 =$
14 8 4 = $ 8 4 = 3 8 K =3
te.BG‘w s 5 “‘nc [ bePc e
......................................... ggeﬁeaa BCPfeISth nBCPeg,t
. R e Pe e a o, 6. R e P e o, 6 eR e Pe e o,
15 1&2 a o =% a 1&2 a 4 =% a 1&2 a 4 =% a
16 3 K] =3 3 o =3 3 4 =3
17 4 K = $ 4 K = $ 4 4 = $
18 5 R = $ 5 K =$ 5 K = $
19 6 K| =3 6 K| =3 6 Ki =3
20 7 4 =9 7 4 =3 7 4 =%
21 8 R =3 8 X = $ 8 4 =3
t B s Fe ®s
a Bega ChR be b bta@ Cf be 5 gk be
6 °R o2 Peelsa 3o, 5. eRte aPeelsa o? 6 R . e a o
22 ga a K| = $ a ga a 4 = ¢ a ga a K| = ¢ a
23 182 d =3 1&2 K = $ 182 4 =3
24 3 4 =5 3 4 = $ 3 4 =%
25 4 4 =3 4 4 = $ 4 o =3
26 5 K = $ 5 4 = § 5 K =3
gog  dn & Py s W Fop g, ges T e

"1, 3 05K 53¢ a7 2006 (Page 5 0f 6) * ¥ 7530-08-000-3307



Pc . ec e ' g@ec e
. 9% €f s M4 Se¢ IS

I:Ia' a? z Check box if rates are popu%ted in this section.

‘' gec e
W S S
a

B 0%t VY (D) K $
Vs e a s = $
(parcels orffy) *™

ESIRY "a . = 5

¥ :Fsté_t"' ) v.é‘y $3.70 K = $

B fug & (Srge) 135 4 = s

® 'f'u a _fre*_rgt (3811 $1.85 4 = $

W0 fu &Smr o e el & $3.15 4 = 3

11 afC froa K = $

¢ ‘(%g'rcels onl)‘l)} ‘m- o

312 rac® At (PA) K = $

¥3 gea anzII ng ! B $

3 o, T 05K e a¥ 2006 (Page 6 of 6)



geS ec e

IS

r

y
1

© 6

IS

d d



